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BLP-001 : INTRODUCTION TO SERICULTURE 

Time : 2 Hours  Maximum Marks : 50 

Note : Answer any five questions. All questions 

carry equal marks. 

1. Explain the lifecycle of silkworms with the 

help of a neat diagram. List any five 

constraints of sericulture industry in  

India.   10 

2. Describe any five sericulture activities which 

help in employment generation with 

suitable examples. 10 
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3. Classify training needs with suitable 

examples. Briefly explain the areas of 

sericulture training needs. 10 

4. Identify any ten business opportunities in 

sericulture along with their scope/utility. 10 

5. Explain the important aspects of technical 

efficiency which directly affect silkworm egg 

production.  10 

6. Discuss about the byproducts of grainage 

operations.  10 

7. Describe the parameters based on which the 

quality of cocoon is decided. 10 

8. Write short notes on any two of the  

following :  2×5=10 

(a) Commercial Chawki Rearing 

(b) Seed Cocoon Quality 

(c) Wet Processing of Silk Yarn 
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js'kedhV ikyu esa izek.k&i=  

(lh- vkbZ- ,l-) 

l=kar ijh{kk  

twu] 2025 

ch-,y-ih-&001 % js'ke mRiknu dk ifjp; 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksas ds vad 

leku gSaA 

1- js'kedhV ds thou&pØ dh LoPN vkjs[k dh lgk;rk ls 

O;k[;k dhft,A Hkkjr esa js'ke mRiknu m|ksx dh fdUgha 

ik¡p dfBukb;ksa dh lwph rS;kj dhft,A 10 

2- jkstxkj l`tu esa lgk;d] js'ke mRiknu ls lEcfU/kr fdUgha 

ik¡p xfrfof/k;ksa dk mi;qDr mnkgj.kksa ds lkFk o.kZu 

dhft,A   10 
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3- izf'k{k.k dh vko';drk dk mi;qDr mnkgj.kksa ds lkFk 

oxhZdj.k dhft,A js'ke mRiknu esa izf'k{k.k dh 

vko';drk okys {ks=ksa dk la{ksi esa o.kZu dhft,A 10 

4- js'ke mRiknu m|ksx esa fdUgha nl O;kolkf;d voljksa vkSj 

muds {ks=@mi;ksfxrk dh igpku dhft,A 10 

5- rduhdh ;ksX;rk ds mu izeq[k igyqvksa dh O;k[;k dhft, 

tks js'kedhV ds v.Ms ds mRiknu dks izR;{k :i ls 

izHkkfor djrs gSaA  10 

6- chtkxkj fØ;kvksa ds miksRikn ds ckjs esa ppkZ dhft,A 10 

7- mu ekinaMksa dk o.kZu dhft, ftuds vk/kkj ij dkslk dh 

xq.koÙkk fu/kkZfjr dh tkrh gSA 10 

8- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×5=10 

(d) O;kolkf;d pkWdh dhVikyu 

([k) cht dkslk xq.koÙkk 

(x) js'ke rarq dh xhyh izfØ;k 

× × × × × 

 

 


